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https://sites.google.com/view/jikhan-jeong/main
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St = Sa ∪ Sna

Not Using Amazon, Sna = St ∩ Sa
c

Using Amazon Sa = Saw ∪ Sanw

Writing Reviews, Saw

Biased Reviewer Sawb Sanw = Sa ∩ Saw
c
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Ck=1 = Category Ck=2 Ck=K

gj=1 = Product Group

S = Subset of g1

P =
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Ck=1 = Category Ck=2 Ck=K

gj=1 = Product Group

S = Subset of g1

P =
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Ript = 1, if − ∞ < Uipt
∗ ≤ c1

Ript = 2, if c1 < Uipt
∗ ≤ c2,

Ript = 3, if c2 < Uipt
∗ ≤ c3,

Ript = 4, if c3 < Uipt
∗ ≤ c4,

Ript = 5, if c4 < Uipt
∗ < ∞.
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Uipt
∗ = x′iptβ + ρεit, εit~ i. i. d Normal 0, 1

• ρ = 1

• 𝛒𝐢 = 𝐞𝐱𝐩 𝐙′𝐢𝐭𝛄
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• 𝐅𝟏 𝐬𝐜𝐨𝐫𝐞 =
𝟐 ×(𝐩𝐫𝐞𝐜𝐢𝐬𝐢𝐨𝐧 ×𝐫𝐞𝐜𝐚𝐥𝐥)

𝐩𝐫𝐞𝐜𝐢𝐬𝐢𝐨𝐧+𝐫𝐞𝐜𝐚𝐥𝐥
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σ 1
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zi,n RK

R

p φK, θR, zR, wR|α, β = ෑ

𝑘=1

𝐾

p(φK|β)ෑ

𝑖=1

𝑅

p( θi|α)෍

𝑛=1

𝑁

p(𝑧𝑖,𝑛|θi)p(wi,n|φk, zi,n|θi)

p(φK, θR, zR| wR) =
p(φK, θR, zR, wR)

p(wR)
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• σ 1
1
2σ 1σ 1

• σ 1
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ොy =
1

B
෍

𝑖=1

B

rfi(x; θi)
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• ෝ σ 1

• ( )
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=෍ ෝ ෍
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• ( ) σ ෝ ( 1) 1

2
2 σ 1
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2
2

•
( ,ෝ 1 )

ෝ (t 1)

2 ( ,ෝ t 1 )

ෝ ( 1)
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